 Mass A (25kg) is fixed to a spring of spring constant k=500N/m and slides on a frictionless surface. A second mass, Mass B (10kg), sits above Mass A. The coefficient of static friction between the surfaces of A and B is µs=0.7. 
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) What s the natural frequency of oscillation of this system?





[image: image2.png]b) What is the maximum Force which MA can exert on Mb without the surfaces
slipping?





[image: image3.png]¢) The system is started by giving the system an initial positive velocity at t=0 and

x=0. Assuming the block stays on for that initial kick, what is the largest value of
initial velocity the system can be given so that it oscillates without the blocks
slipping?
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[image: image4.png]d) Give the equation of motion for the system started with the velocity in part (c)

x(t)=



 [image: image5.png]¢) What is the total energy of this system?




